How Many of Each Atom?

1) 4 MgCl2 
Mg_____	Cl_____		

2) Be(NO3)2 
Be_____	O_____	N______			

3) 4 Be(NO3)2 
Be_____	O_____	N______			

4) MgCl2 + Li2CO3 
Mg_____	Cl_____	Li____		C_____		O____

5) C6H12 O6 + 9 O2 
C___		O____		H______

6) 6 CO2 + 6 H2O  
C___		O____		H______

7) Pb + FeSO4 
Pb___		O____		S______	Fe______

8) CaO + CO2 
C___		O____		Ca______

9) P4 +  3 O2 
P____		O_____

10) 2 P2O3  
P____		O_____

11) 2 RbNO3 + BeF2 
Rb____	O_____	N______		Be______		F______

12) Be(NO3)2 + 2 RbF 
Rb____	O_____	N______		Be______		F______

13) 2 AgNO3 + Cu
Ag____	O_____	N______		Cu______		

14) Cu(NO3)2 + 2 Ag 
Ag____	O_____	N______		Cu______		
 
15) C3H6O + 4 O2
C____		O_____	H______		

16) 3 CO2 + 3 H2O 
C____		O_____	H______		

17) 2 C5H5 + H2O 
C____		O_____	H______		

18) Fe(C5H5)2  
Fe____	C_____	H______		
